Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	COMPETITOR # Name	₹
1	140	31.77	4.4067	140.0000	100.00	3 Cannon, Pau	l
2	140	56.86	2.4622	78.2237	55.87	8 Nelson, Mick	

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	140	30.72	4.5573	140.0000	100.00	14	Hopley, Darren
2	140	51.95	2.6949	82.7873	59.13	5	Donavon, Chris
3	140	59.94	2.3357	71.7518	51.25	15	Spooner, Wayne
4	140	70.63	1.9822	60.8920	43.49	10	Jones, Jason

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	140	55.45	2.5248	140.0000	100.00	2	Davies, Martin
2	140	56.25	2.4889	138.0089	98.58	17	Meddins, Daryl

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	140	43.94	3.1862	140.0000	100.00	13	Jiggens, Mark
2	140	75.40	1.8568	81.5862	58.28	16	Marechal, John

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	23.90	1.6736	40.0000	100.00	8	Nelson, Mick
2	40	26.67	1.4998	35.8455	89.61	3	Cannon, Paul

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	14.90	2.6846	40.0000	100.00	14	Hopley, Darren
2	40	21.98	1.8198	27.1156	67.79	15	Spooner, Wayne
3	40	28.69	1.3942	20.7738	51.93	10	Jones, Jason
4	40	59.04	0.6775	10.0949	25.24	5	Donavon, Chris

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	21.22	1.8850	40.0000	100.00	2	Davies, Martin
2	40	25.19	1.5879	33.6959	84.24	17	Meddins, Daryl

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C #	OMPETITOR Name
1	40	19.02	2.1030	40.0000	100.00	13	Jiggens, Mark
2	10	42.73	0.2340	4.4512	11.13	16	Marechal, John

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	25	6.74	3.7092	35.0000	100.00	3	Cannon, Paul
2	35	14.46	2.4205	22.8396	65.26	8	Nelson, Mick

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	35	7.44	4.7043	35.0000	100.00	15	Spooner, Wayne
2	35	7.67	4.5632	33.9505	97.00	14	Hopley, Darren
3	35	9.65	3.6269	26.9845	77.10	5	Donavon, Chris
4	35	26.15	1.3384	9.9579	28.45	10	Jones, Jason

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	35	8.66	4.0416	35.0000	100.00	2	Davies, Martin
2	35	15.72	2.2265	19.2812	55.09	17	Meddins, Daryl

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	35	9.67	3.6194	35.0000	100.00	13	Jiggens, Mark
2	35	13.41	2.6100	25.2386	72.11	16	Marechal, John

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	50	7.82	6.3939	50.0000	100.00	3	Cannon, Paul
2	50	8.75	5.7143	44.6857	89.37	8	Nelson, Mick

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	50	8.08	6.1881	50.0000	100.00	14	Hopley, Darren
2	50	11.02	4.5372	36.6606	73.32	5	Donavon, Chris
3	50	17.91	2.7917	22.5572	45.11	15	Spooner, Wayne
4	50	18.39	2.7189	21.9685	43.94	10	Jones, Jason

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	50	10.74	4.6555	50.0000	100.00	17	Meddins, Daryl
2	50	18.26	2.7382	29.4085	58.82	2	Davies, Martin

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	50	6.97	7.1736	50.0000	100.00	13	Jiggens, Mark
2	50	10.03	4.9850	34.7458	69.49	16	Marechal, John

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	23.63	5.0783	120.0000	100.00	3	Cannon, Paul
2	120	40.42	2.9688	70.1534	58.46	8	Nelson, Mick

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	120	33.85	3.5451	120.0000	100.00	14	Hopley, Darren
2	120	39.07	3.0714	103.9672	86.64	15	Spooner, Wayne
3	120	63.49	1.8901	63.9786	53.32	5	Donavon, Chris
4	120	73.52	1.6322	55.2503	46.04	10	Jones, Jason

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	34.26	3.5026	120.0000	100.00	17	Meddins, Daryl
2	120	45.32	2.6478	90.7149	75.60	2	Davies, Martin

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	31.01	3.8697	120.0000	100.00	13	Jiggens, Mark
2	120	45.56	2.6339	81.6769	68.06	16	Marechal, John

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	9.17	4.3621	40.0000	100.00	3	Cannon, Paul
2	40	11.00	3.6364	33.3455	83.36	8	Nelson, Mick

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	11.15	3.5874	40.0000	100.00	15	Spooner, Wayne
2	40	12.21	3.2760	36.5274	91.32	14	Hopley, Darren
3	40	12.28	3.2573	36.3192	90.80	5	Donavon, Chris
4	40	15.13	2.6438	29.4779	73.69	10	Jones, Jason

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	8.83	4.5300	40.0000	100.00	17	Meddins, Daryl
2	40	8.96	4.4643	39.4196	98.55	2	Davies, Martin

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	10.17	3.9331	40.0000	100.00	13	Jiggens, Mark
2	40	12.66	3.1596	32.1327	80.33	16	Marechal, John

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	OMPETITOR Name
1	45	10.94	4.1133	45.0000	100.00	Cannon, Paul
2	45	14.56	3.0907	33.8118	75.14	Nelson, Mick

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	10.76	4.1822	45.0000	100.00	14	Hopley, Darren
2	45	13.98	3.2189	34.6352	76.97	10	Jones, Jason
3	45	14.74	3.0529	32.8494	73.00	15	Spooner, Wayne
4	45	19.24	2.3389	25.1663	55.93	5	Donavon, Chris

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	11.06	4.0687	45.0000	100.00	2	Davies, Martin
2	45	11.28	3.9894	44.1223	98.05	17	Meddins, Daryl

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	13.15	3.4221	45.0000	100.00	13	Jiggens, Mark
2	45	19.92	2.2590	29.7063	66.01	16	Marechal, John

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	110	24.49	4.4916	110.0000	100.00	3	Cannon, Paul
2	60	35.75	1.6783	41.1021	37.37	8	Nelson, Mick

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	110	22.46	4.8976	110.0000	100.00	14	Hopley, Darren
2	110	39.90	2.7569	61.9198	56.29	15	Spooner, Wayne
3	110	51.62	2.1310	47.8613	43.51	5	Donavon, Chris
4	110	52.34	2.1016	47.2029	42.91	10	Jones, Jason

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	110	35.11	3.1330	110.0000	100.00	17	Meddins, Daryl
2	110	40.44	2.7201	95.5020	86.82	2	Davies, Martin

Nov 2022

Printed November 13, 2022 at 12:00



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	110	39.73	2.7687	110.0000	100.00	13	Jiggens, Mark
2	110	61.66	1.7840	70.8774	64.43	16	Marechal, John